Algebrall
Chapter 2 Review- Non-Calculator

Given the parabola y = x* + 2x — 15, find:
a. The equation of the parabola in graphing form
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2. Given the parabola y = -0.5(x — 4)* + 2, find:
a. The equation of the parabola in graphing form
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. A graphiof the function
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3. Give the equation for the parabola below:
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Graph each parent function:

a. y=x3_’,_'L ? b.y=)—lf c.y =+x
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Which of the parent furictions in #4 have a domain that is NOT “all real numbers”? What is the domain? (There:
can:be:more. than one. functlon)

Which of the parént functions In#4 have a range that is NOT “all real numbers”? What is the range?(There.can
be more.than one function}.
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Which of the p‘aren"t;funé_t"i‘Qns in #4 have asymptotes? What are the asymptotes? (There can be more than one
function).
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Which of the‘parent functions in #4 have x-intercepts? What are the x-intercepts? (There can be more than one
function)..
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Which of the parent functions in #4 have y-intercepts? What are the x-intercepts? {There can be more than one
function).
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10. Write an equation for the function y = /x after it has been moved 2 units left, 5 units down, and stretched
vertically by a factor of 3.
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11. Write an equation for the function y = 2% after it has been moved 3 units down and flipped upside down.
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12. Write an equation for the functiony = = after it has been moved 8 units right.
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13. Give.the equation for the graphs below:

/;(f‘{/ +2

14. Give the explicit and recursive formulas for the sequence 2, 7, 12, 17, 22, . P /r&:;‘f'-
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15. Give the explicit and recursive formulas for the sequence 81, 27, 9, 3, 1, ...
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1. Consider the following sequence: -5, -1, 3, ...

a. Is this sequence arithmetic or geometric? How can you tell?
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b. Is 119 a term in this:sequence? If so, what term number is it? If not, why not? Explain completely.
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2. Consider the following sequence;: 500;,:100, 20, 4, ... n 'Hx’, CeHinence,

a. Isthis sequence arithmetic or geometric? Why?
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3. What is the equation for the:graph at the right? v A
Explain.how you determined each numberin your :
equation.
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4, Find the error(s) in the solution at right. x+5)— (5x+4) = 6—2(x— 3)
Explaif what the error(s) is/are and show ’ ’ g |
how to solve the equation correctly. 2x+5- 3"@; 6—2x 6 ___)
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5r Multiply each of the following expressions. How can you check that each result is equivalent to the
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6. Solve the system of equations at right and:explain wht: 4x—y=-~13
the solution means in' asmany waysas you can. 354 9y=4
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7. Makeatable:and graph f(x) = x2 4 2x.
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8. Is (a + b)2 equivaleiit to a’ + b* > Why or why not? Justify your answer completely.
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9. A parabolically arched bridge is constructed to span a river that is 50 feet wide. The highest point of the
bridge is 30 feet above the road level. Find the equation of a parabola that could model this bridge.

90
N

(#5,0)

\/

10. Find the distance between the points (-2, 6) and (5,10} on a coordinate plane.
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11. Mike Teavee’s parents'wanthim to spend -more time playing outside and have developed a rewards system

for him. Every time herides his bike; he gets 5 points. Every time he plays a video game, he loses 3 points. A
bike ride takes hiim 15 minutes and pldaying.a-video game takes him 20 minutes. If at the end of the week Mike
has 35 points and either rode his bike:or played-a video game for a combined total of 395 minutes, how many
bike ‘rides did he go on and how many video games did he play? 5:;#0{4 E e ﬂz‘a’af
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